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® 81000ci= ( 81 ) m
8 1000(cn)x0.0001=8.1 m 8 1000(cn)+10000=8.1 m

@ 9405cni= ( 0.9405 ) m
9405(cm)X0.000 1 =0.9405 m

9405 (cm)+10000=0.9405

@ 67900ci= ( 6.79 ) m
67900(cm)x0.0001=6.79 m 67900(cm)+10000=6.79 m

® 7.21 ni= ( 72100 ) cof
7.21(nf)x 10000=72 100 crf

® 0.0238 = ( 238 ) cof
0.0238(nf)x 10000=238 crf

® 50.43 nm= ( 504300 ) cn
50.43(m)x 1 0000=504300 crf
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105000 m= ( 0.105 ) kn
1 05000(m)*x0.00000 I =0. | 05 kn

105000( )~ 1000000=0. | 05 kni

8570 m= ( 0.00857 ) kn
8570(m)x0.00000 | =0.00857 kn

8570(m )+ 1000000=0.00857 kn

90100 m= ( 0.0901 ) kna
90 100(m)Xx0.00000=0.0901| kn

90100(m)=+1000000=0.0901 kn

0.802km= ( 802000 ) m
0.802(kn)x 1000000=0802000 m

0.005 km= ( 5000 ) m
0.005 (ki) X 1 000000=5000 m
2.937 ki= ( 2937000 ) m
2.937(kn)x 1000000=2937000 m
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